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QUESTION 1

Which statement correctly describes how Cisco Meraki devices behave should they be unable to contact the Meraki
Cloud server? 

A. The network devices will attempt to establish a connection to a locally hosted database server that has been
configured for high availability. 

B. The devices may be re-initiated into a backup mode if an administrator manually intervenes using a direct, local
connection. 

C. The network stops passing traffic across all devices and the interfaces including any connected non-Cisco Meraki
devices. 

D. The network devices continue to function normally (traffic lows at full rate) but management and configuration
functions are interrupted. 

Correct Answer: D 

 

 

QUESTION 2

What option or options can customers use for multi-site management with Mobility Express? 

A. WebUl 

B. Prime 3.4 or DNA Center 

C. mobile app 

D. WebUI or mobile app 

Correct Answer: B 

 

 

QUESTION 3

What would be an indicator that a customer could benefit from a Meraki cloud-managed network? 

A. Customer needs modular hardware customization and granular, command-line level interfacing 

B. Customer prefers direct access to on-premises appliances and servers via in-line terminal management 

C. Customer requires end to-end visibility and a network that can be quickly deployed and easily managed by a limited
IT stat 

D. Customer seeks to implement a diverse solution of firewalls with 3rd party integration alongside other cloud
application. 
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Correct Answer: C 

 

 

QUESTION 4

What is one benefit of the Aironet 4800 AP? 

A. cost-effectiveness for small-to medium-sized deployments 

B. modularity for investment protection 

C. Cisco CleanAir 

D. industry-leading hyperlocation 

Correct Answer: D 

 

 

QUESTION 5

What switching product should you lead with for a midmarket customer? 

A. Catalyst C9200 

B. Catalyst SG 550xG 

C. SG250X 

D. C2960L 

Correct Answer: B 

 

 

QUESTION 6

Which combination of MS switch models is supported foe physical stacking with each other? 

A. MS120-8 and MS120-24 

B. MS350-48 and MS350-24X 

C. MS225-48 and MS350-48 

D. MS225-24 and MS425-16 

Correct Answer: B 
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QUESTION 7

What is one challenge commonly facing Express Specialization Networking customers? 

A. shrinking IT budget and resource scarcity 

B. low number of devices connected to the network 

C. do-it-yourself approach to network management 

D. large, highly bureaucratic IT departments 

Correct Answer: A 

 

 

QUESTION 8

Which Cisco product is the network management system,foundational controller,and analytics platform all the center of
....... network? 

A. Cisco DNA Spaces 

B. Cisco Meraki 

C. Cisco DNA Center 

D. Cisco Wireless Solutions 

Correct Answer: C 

 

 

QUESTION 9

What are many enterprises enabling to meet increasing demands of bandwidth at the branch? 

A. DIA 

B. IoT 

C. IPsec VPN 

D. limited guest Wi-Fi 

Correct Answer: A 

 

QUESTION 10
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What is one-way Catalyst 9200 achieves IT simplicity? 

A. view all network devices on a single pane of glass dashboard 

B. remote wipe any device on the network 

C. direct access devices wirelessly via OTA with Bluetooth 

D. enable virtual stacking 

Correct Answer: A 

 

 

QUESTION 11

Which action occurs once an organization\\'s licensing expires? 

A. Under the `Organization tab\\' the \\'License info\\' has a message that blinks yellow indicating your license has
expired 

B. The organization loses all configuration and analytics information. 

C. The organization is immediately shut down. 

D. The organization enters a 30-day grace period to resolve the situation in order to return to compliance. 

Correct Answer: D 

 

 

QUESTION 12

What is Cisco Switch Selector? 

A. a tool that can help customers compare options and identify the right switch for their needs 

B. a dashboard view of all an enterprise\\'s switches 

C. a configuration tool that helps small business customers rapidly deploy a new switch 

D. a cloud-based solution to optimize network performance 

Correct Answer: A 

 

 

QUESTION 13

What is a key feature of the Meraki MV Dashboard? 
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A. drag and drop camera feeds to create video walls with up to 16 cameras per layout 

B. bulk configuration changes and software updates 

C. device security and location analytics in a single pane of glass 

D. single pane of glass showing root cause analysis for all connected wireless clients 

Correct Answer: A 

 

 

QUESTION 14

Which portfolio of Cisco routers supports Aggregation? 

A. CSR 1000V 

B. ASR 1000 

C. ISR 4000 

D. ISR 900 

Correct Answer: C 

 

 

QUESTION 15

What is one typical need of a small branch? 

A. multiple network services integrated into a single device 

B. comprehensive subscription-based services 

C. multiple devices for optimal flexibility 

D. ability for users to access the majority of resources at off-site data storage 

Correct Answer: A 
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